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Testlet 1

Background
You are developing an ASP.NET MVC application in Visual Studio 2012 that will be used to process orders.

Business Requirements
The application contains the following three pages.

= A page that queries an external database for orders that are ready to be processed. The user can then process the order. =
A page to view processed orders.
= A page to view vendor information.

The application consumes three WCF services to retrieve external data.

Technical Requirements

Visual Studio Solution:

The solution contains the following four projects.

= ExternalQueue: A WCF service project used to communicate with the external order database.

= OrderProcessor: An ASP.NET MVC project used for order processing and logging order metadata.
= OrderUpload: A WCF service project used to submit order data to an external data source. =
Shipping: A WCF service project used to acquire shipping information.

ExternalQueue Project:
Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.

#: InboundQueve %
#:  QueveDetail

= Properties

i = Properties
il OrderNum '
K Vendodd ,
P FilePath 1 F Productld

0.1
FO \ & P roductDescript... |
OrderValue »

o OrderNum

= s“,‘]ga,“on Properties = Na.ugahcn Pre perties

§8 QueueDetail ¥4 InboundQueue
- fo) Det
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The project contains two services defined in the following files.

= |ExternalQueueService.es
= ExternalQueueService.svc.
The ExternalQueue.Helpers namespace contains a definition for a class named OrderNotFound Exception.

OrderProcessor Project:
Entity Framework is used for data access. The entities are defined in the ProcessedOrders.edmx file as shown in the following diagram.

#; ProccessedOrder

#; Vendor 2 = Properties
W Id
= Properties F OrderNum
o ld F ProcessedDateTi..
F Name 1 . F Value
= Navigation Properties F VendorlD

v"'] ProccessedOrders Nav igation :’D‘:Cf..lc'a

yr:"j vendor

The classes are contained in the OrderProcessor.Entities namespace. The project contains the following two controllers. =
InboundQueueController.es

= ProcessedOrderController.es

WCF service proxies to the ExternalQueue, Shipping and OrderUpload services have been generated by using the command prompt. The
ExecuteCommandProcedure() method in the ExternalQueueService.svc file must run asynchronously.

The ProcessedOrderController controller has the following requirements.
* The GetVendorPolicy() method must enforce a 10 minute absolute cache expiration policy.
* The GetProcessedOrders() method must return a view of the 10 most recently processed orders.

OrderUpload Project:

The project contains two services defined in the following files.
= |UploadCallbackService.es



= UploadCallbackService.svc
Data Access is maintained in a file named UploadOrder.es.

Shipping Project:
Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.

% ShippingAddress )

|

= Properties %y State &)
¥l Venderld
. P Address = Properties ‘
1 City e of Stateld
K Zip = K StateName ’
M Stateld = Navigation Properties }
= Navigation Properties y2l ShippingAddresses
v State

The Custom Tool property for ExternalOrders.edmx has been removed.
POCO classes for the Entity Model are located in the ShippingAddress.es file. The POCO entity must be loaded by using lazy loading.

The project contains two services defined in the following
files. = IShippingService.es = ShippingService.svc.

The IShippingService contract must contain an operation that receives an order number as a parameter. The operation must return a class named Shippinginfo
that inherits from a class named State.

Application Structure
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ExternalQueue\IExternalQueueService.cs

IQ91 using System.Collections.Generic:

IQ02 using System.ServiceModel;

IQ03 using Externalilueue.Helpers;

IQ04

IQ05 namespace ExternalCueue

IQoe 4

IcoT [ServiceContract]

1008 public interface IExternaifuesusService

IQ08 {

IQ10 [OperationContract]

IQ11 List<Entities. Inboundluene> GetExternalOrdexrs():
1012

IQ13 {FaulcContract (typeof (OrderNacFoundException)) ]
IQ14 [OperationContract]

IQ15 void DeleteExternalCrder (int oxderNum);

I01i6

1017 [CperationContract]

1018 Entities, InboundQueue GetExternalOrder (int orderNum):;
IQ19 }

1020 }



OrderProcessor\IExternalQueueService.svc

EQO1
EQ02
EQO3
EQO4
EQOS
EQO&
EQO7
EQO8
EQ0S
EQ10
EQ11
EQ12
EQ13
EQ14
EQ15
EQ16
EQ17
EQ18
EQ1S
£EQ20
EQ21
EQ22
EQ23
EQ24
EQZS
EQ26

using
uaing
using
using
using
using
using
using
using
using

System;
Syatem.Collections.Generic;
System.Ling;
System.Data.EntityClient;
System,Data;
ExternalQueue.Entities;
System.Data.0Objects;
ExternalQusaye Halpers:
System.ServiceModel;
System,.Threading.Tasks;

namespace ExternalQueue

{

public class ExternaiQueusService : IExternalueuneSe2rvice

i

public List<Entities.InboundQueue> GetExternalCOrders()

{

1

Lisc<InboundQueue> gqueuslitems = new Lisc<InboundQueue>();
return gueueltems;

public void DeleteExternalOrder (int orderNum)

i

using (var context = new ExternalOrdersEntities())

{
var orders = context.InboundQueues.Where(i => i.OrderNum ==

orderNum) .ToList ()

EQ27
EQ28
EQ28
EQ30
EG31
EQ32
EQ33
EQ34
EQ35
EQ36
EQ37
EQ38
EQ3%8
EQ40
EQ41

wMman

if (orderxs.Count () > 0)
{
using (EnticyCommand cmd = new EntityCommand())
{
cmd.CommandText = "ExternalOrdersEntities.uspiInboundQueueDeleca’™;
ced.CommandType = CommandType.StoredProcedure;
EntityParameter param = new EntityParsmeter():;
param.Value = orderNum:
param.Parameterijame = "orderBum";
cmd.Parameters,Add (param) ;
ExecuteCommandFProcedure (cmd) ;
}
}
else
{
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ExternalQueus\ProcessedOrderController.cs

FCOl
rco2
PCO3
PCO4
PCOS
PCO&
PCO7
pCos
PCOB
PC10
PC11
PC12
BEC13
PC14
PC15
PCig
PC17
PC18
PC1S
PC20
pC21
BC22
BC23
PC24
PC25
PC26

PC27

using System;

using System.Collections.Generic;
using System.Ling:

using Syscem.Runtime.Caching?
using System.Web.Mve:

using CrderProcessor.Entities;
using OrderProcessor.Helpers:;
uaing System.Configuration;

namespace CrderProcessor.Controllexrs

{

public class ProcessedOrderController : Contraller

{

public ActionBesult GetProcessedOrders()
{
w3ing (var context = new ProcessedOrders())
i
Lisc<Entities.ProccessedOrder> orders = new List<ProccessedCrder>():
return View(orders);
}
3

private ObjectCache cache {get { return MemoryCache.Default: }}

public Actionkesult GetVendors()
{
List<Entities.Verdor> vendors = cache.Get

{"vendorKey") as List<Entities.Vendor>;

PC28
PC2%
PC30
FC31
PC32
PC33
PC34
PC35
PC36
BC37
PC38
PC39
PC40
PC4)

if (vendors == null)
{
using (var context = new ProcessedOrders())

{
vendors = context.Vendors.ToList():

}
}
return View(vendors):
}

private CacheltemPolicy GetVendorPolicy()
{

CacheltemPolicy wvendorPolicy = new CacheltemPaolicy():
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OrderProcessor\InboundQueueController.cs

ICol
IC02
IC03
ICo4
ICos
icoe
Ico?
Icos
ICo8
ICi0
IC1i1
Iciz2
IC13
IC14
IC1S
ICis
Ici7
Icia
IC19
Ic20
IC21
Iczz2
1C23
IC24
IC25
IC26
Icz?
Ic28
IC28
IC30
IC31
IC32
IC33
IC34
IC35
IC3¢
IC37
IC38
Ic38
IC40
1C41
Ic4z

using System;

using System,Collections.Generic;
using System.Web.Mwec:

using OrderProcessor.Entities;
using ExternalQueue.Entities;
using System.ServiceModel;

using System,.Collections;

using ExternalQueue.Hslpers;
using OrderProcessor.Helpers:
using System.Ling;

namespace OrderProcessor.Controllers
: public class InboundQueueCantroliler @ Controller
{ public ActionBesult GetQueuneltems()
. IEnumerableLinboundQueusd> inboundOrders = Enumerable.Empty<InboundQusus>(}:
return View (inboundOrders);
}

public ActionBesult ProcessOrder (int orderNum)
{

ExvernailueuneServicellient gService = new ExtermalQueueServiceClient():
InboundQueue externalCrder = gService,GetExternalOrder (orderNum);
if (externalOrder != null)
{
using (var contezt = new ProcessedOrders())
{
ProccessedOrder order = new ProccessedOrder();
order.OrderNum = externalCrder.OrderNum;
order.Value = Convert.ToDouble (externalCrdexr.OrdexrValue);
order . VendorID = Convert.ToInt32 (externalOrder.VendorId);
order.ProcezsedDateTime = DateTime.Now;
context.ProccessedOrders.Add (order) ;
context .SaveChanges () ;
}
gService.DeleteExternalOrder (orderNum) ;
}
return RedirectToAction("GetQueueltems");
¥



OrderUpload\IUploadCallbackService.cs

IU001 using System,ServiceModel;

1002

I0U03 namespace OxdexUpload

1004 ¢

J008 {SexviceContract (CallbackContract = typeof (IUploadCalliback))}
1006 public interface I0ploadCalibackBervice

I007 {

Ipos [OperationContract]

IU%a void UploadOrder (int orderNum);
1010 }

ID011

I012 public interface IUpicadCaliback
1013 {

014 {OperationContract]

1015 decimal GetOrderValue (int orxrderNum):
1016 }

1017 )
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OrderUpload\UploadCallbackService.svc

US01 using System.SerwviceModel;

Usoz

US03 namespace OrxrdexUplocad

Usos 1

Usas public class UplcadCallbacklBervice : IUploadCallbackService
Usos {

Uso7 public void UploadOrder (int orderNum)
usSos {

gsog }

Usio }

Usii 3}

Shipping\IShippingService.cs

IS01 using System.Runtime.Seriglization;
1502 using System,ServiceModel;

I1S03

IS504 namespace Shipping

IS05 §

1806 public interface IShippingService
I807 {

1508

I509 }

I510 }
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Shipping\ShippingAddress.cs

SAO1 using System.Collections.Generic;

SA0Z using System.Data.Ckijects;

SA03

SA04 namespace Shipping.POCO

SROS

SECs public class Shippingaddress

S207 i

Sxos public int VendorId { get; set; }
SAQDS public string Address { get; set; }
SR10 public string City { get; set; }
SZil public int StateId { get; set; }
Sa12 public string Zip { get; set:; }
SAl3 public State State { get; set: }
SAl4 }

SARLS

SE16 public class Stats

SA17 {

SAlE public int StatelId { ge=t; set; }
SR19 public string StateName { get; set; |}
S220 public List<Shippingdddress> Shippingiddregses { get; set; }
S221 }

SA22 }

QUESTION 1

You need to regenerate the service proxies to include task-based asynchronous method signatures.

Which command should you use?

A.

aspnet_regiis.exe /t:code http://localhost:62965/UploadCallbackService.svc

B. svcutil.exe /t:code http://localhost:62965/UploadCallbackService.svc
C.
D
E

aspnet_compiler.exe /t:code http://localhost:62965/UploadCallbackService.svc

. aspnet_regiis.exe /t:code http://localhost:62965/UploadService.svc
. svcutil.exe /t:code http://localhost:62965/UploadService.svc

Correct Answer: B
Section: [none]
Explanation

https://www.gratisexam.com/



Explanation/Reference:
http://msdn.microsoft.com/en-us/library/aa347733.aspx

QUESTION 2
DRAG DROP
You need to modify the ExecuteCommandProcedure() method to meet the technical requirements.

Which code segment should you use?

https://vceplus.com/

Select and Place:
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Answer area

‘await connecticn.OpenAsync(); } private async Task ExecuteCommandProcedure (EntityCommand comma

r

t

await command.ExecuteNonQuezyasync(); using (EntityConnection connection ——
- - = new EntityConnection("name=ExternalOrdersEntities”))

{

connection.OpenAsync(); command.Connection = connection;

command .OpenAsync();

await command.QueryAsync();

Correct Answer:
Section: [noneg]
Explanation

Explanation/Reference:

QUESTION 3

https://www.gratisexam.com/



Answer area

private async Task ZxecuteCommandProcedure (EntityCommand comma
using (EntityConnection connection
= new EntityConnection(”name=ExternalOrdersEntities”))

- : - b f - .
connection.OpenAsynci(); command.Connection = connection;

_ await connection.OpenAsync();
' command .OpenAsync () ;
. await command.ExecuteNonQueryisync();

await command.QueryAsync();

The GetVendors() action in the ProcessedOrderController controller is querying the database each time it is run. The GetVendors() action must query the database
only if the cache is null.

You need to add code to the action at line PC33 to cache the data.
Which code segment can you use? (Each correct answer presents a complete solution. Choose all that apply.)
cache.Set(new Cacheltem("vendorKey", vendors), GetVendorPolicy());

cache.Add("vendors", vendors, new CacheltemPolicy());
cache.Add(new Cacheltem("vendorKey", vendors) , GetVendorPolicy());
cache.AddOrGetExisting("vendorKey", context, new CacheltemPolicy());

cow »

Correct Answer: AC
Section: [none]
Explanation

https://www.gratisexam.com/



Explanation/Reference:

QUESTION 4
The QueueDetail entity type must inherit from the InboundQueue entity type in the ExternalQueue service project using table-per-type inheritance.

You need to modify the entities in the designer.

What should you do? (Each correct answer presents part of the solution. Choose all that apply.)

Remove the OrderNum property in InboundQueue.
Remove the OrderNum property in QueueDetail.
Set the QueueDetail BaseType to InboundQueue.
Remove the association between the entities.

Set the InboundQueue BaseType to QueueDetail

moowp»

Correct Answer: BCD
Section: [noneg]
Explanation

Explanation/Reference:
Explanation:

References: http://www.robbagby.com/entity-framework/entity-framework-modeling-table-per-type-inheritance/
Testlet 1

Background

You are developing an online bookstore web application that will be used by your company’s customers.
Technical Requirements

General requirements:

= The web store application must be an ASP.NET MVC application written in Visual Studio.
= The application must connect to a Microsoft SQL database.

» TheGetTopl00Books()method is mission critical and must return data as quickly as possible. It should take advantage of fast, forward-only, read-only methods
of reading data.

= ThelmportBooks()method must keep a copy of the data that can be accessed while new books are being imported without blocking reads.
= TheCreateMonthlyTotalsReport()method must lock the data and prevent others from updating or inserting new rows until complete.

https://www.gratisexam.com/



= The college textbook area of the web application must get data from a daily updated CSV file.

= The children’s book area of the web application must get data directly from a local database. It must use a connection string. It must also support access to the
stored procedures on a database. Further, it is required to have strongly typed objects. Finally, it will require access to databases from multiple vendors and
needs to support more than one-to-one mapping of database tables.

= The cookbook functionality is contained within a client-side application that must connect to the server using HTTP and requires access to the data using

JavaScript.

= TheBookApiControllerclass must have a method that is able to perform ad-hoc queries using OData.

The RESTful API of the bookstore must expose the following endpoint.

Action: Get a list of all books
HTTP method: GET
Relative URI: /books

Action: Get a book by id
HTTP method: GET
Relative URI: /books/id

Action: Create a new book
HTTP method: POST
Relative URI: /books

Action: Update a book
HTTP method: PUT
Relative URI: /books/id

Action: Delete a book
HTTP method: DELETE
Relative URI: /books/id

Application Structure

Main

https://www.gratisexam.com/



public: class Book

{

public
public
public
public
public
public
public

int Id { gec; set; }
scring Name { get:; seT
string Title { get:; set; }
decimal Price | get; s=t; )
DateTime PublishDate | get:
int Salss { get; set; }
static veocid SaveFeaturedBooks (CEnumsrsbl=<Hcok> books, string file)

}

set; }

https://www.gratisexam.com/



publlic class EBookfipiController : ApiControllsr
{
private readonly IBoockBspository boockRepository:;
public BookA91Controllertl-o::0=*ﬂﬂ1t~r: bookRepository)

: this.bookRepository = bookRepository;

;abllc List<Boak> Get(int id)

{ var book = bookRepository.Find(id);
if (bcok == null)
: throw new HttpRssponseException(HttpStatusCods.NotFound)
ieuurn new List<Book>» { book };

}

public HezpResponseMessage Post(3ock value)

if (ModelState.IsValid)

{
bookRepository. InsertOrUpdate (value) ;
bookRepository.Save ()
var response = new HtrtpRssponssMessage (HtcpStatusCode.Created);
string uri = Url.Route(null, new { id = wvalue.Id });
response,Headers.Location = new Uri(Reguest.RequestUri. uri);
IETUrIN response;
!
throw new HrtpResponseException(HttpStatuslodes . BadRegquest):
1
public HotpReaponseMessage Put(int id;, Book value)
if (ModelState.IsValid)
bookRepository. InsertOrUpdate (value) ;
bookRepository.Save();
return new HtopsResponseMessags (HutpStatusCods  NoContenty
}
throw new HrttpsBesponseException (HttpsStatusCode.BadRequest);
1
public void Delete(int id)
[

var book = bookRepository.Find(id):
if (book == null)
{
throw new HtcpResponseException{HttpStatusCods.NotFound) ;
}
bookRepository.Delete {(1d);



private static void ImportBooks()
{

using (SglConns=cuion connection = new SglConnsction(_connectionString))

{

connection.Open();

ommand command = connection.CreateCommand()

ransaction transaction = connection.BeginTransaction():
command.Connection = connection;

command.Transaction = transaction;

try

{
command.CommandText = _commandTexc;
command.ExecuceNonQuery () ;
transaction.Commit ()

}

catch: (Excsption ex)

{
transaction.Rollback({);

private static veoid CreateMonthlyTotalsReporcs()
{

using (SglConnsction connection = new SglConnsction{_connectionString))

{

connection.Open();
ic znd command = connecticn.CreateCommand();

Sy
b=

Comrm
SgiTransacution transaction = connection.BeginTransaction(}:
command.Connection = connecticn;

command.Transaction = transaction;

Lty

{

command.ConmmandText = _reportCommandText:
command . ExecuteNonQuexry () ;
transaction.Commitc (),

}
catch (Exceprion ex)
{
transaction.Rollback():
}

https://www.gratisexam.com/



PurchaseOrders.xml

PurchaseOrders.xml

<?2xml version="1.0"2>
<aw:PurchaseOrder>
aw:PurchaselrdsrNumber="99503"
aw:0rdexrDate="1805-10-20"
Emins:aw="http://www.adventure-works.com”>
<aw:Address aw:Tvpe="Shipping”>
<aw:Name>Ellien Rdams</aw:Nams>
<aw:Street>123 Mapls Street</aw:Strsec>
<aw:City>Mill Valley</aw:City>
<aw:State>CA</aw:State>
<aw:Zip»10989</aw:Zip>
<aw:Counctry>USA</aw:lountry
</aw:Address>
<aw:Address aw:Type="Billing”>
<aw:Name>Tai Yee</aw:Name>
<aw:Street>8 Oak Avenue</aw:Street>
<aw:City>0ld Town</aw:City>
<aw:State>PA</aw:State>
<aw:Zip>8581l9%</aw:Zip>
<aw:Country>USAd/aw: Councry>
</aw:RAddress>
<aw:DeliveryNoctes> Please leave packages in shed by driveway.</aw:DeliveryNotes>
<aw:Items>
<aw:Item aw:PartNumbsr="872-AR">
<aw:ProductName>Lawnmower</aw: FroductName>
<aw:Quantity>l</aw:Quantity>
<aw:USPrice>148,35</aw:USPrice>
<aw:Comment>Confirm this is electric</aw:Commsnt>
</aw:ltem>
<aw:Item &w:PartNumbsr="9Z2¢-2A">
<aw:ProductName>Baby Monitor</aw:ProcductlName>
<aw:Quantity>2</aw:Quantity>
<aw:USPrice>39,98</aw:US2rice>
<aw:ShipDate>1999-05-21</aw:ShipDate>
</aw:Item>
</aw:Items>
</aw:Purchaselrdexr>
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FeaturedBooks.xml

FeaturedBooks.xml

ion="1.0" encodiag="utf-g" 2>

QUESTION 1
You need to update the CreateMonthlyTotalsReports() method to use database transactions.
Which code segment should you use?

A. SglConnection.BeginTransaction(IsolationLevel.Chaos);

B. SqglConnection.BeginTransaction(lsolationLevel.Serializable);

C. SglConnection.BeginTransaction(lsolationLevel.ReadCommitted);
D. SqglConnection.BeginTransaction(lsolationLevel.ReadUncommitted);

Correct Answer: B
Section: [none]
Explanation

Explanation/Reference:
Explanation:
Scenario: The CreateMonthlyTotalsReport() method must lock the data and prevent others from updating or inserting new rows until complete.

The highest isolation level, Serializable, provides a high degree of protection against interruptive transactions, but requires that each transaction complete before
any other transactions are allowed to operate on the data.
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With Serializable volatile data can be read but not modified, and no new data can be added during the transaction.

QUESTION 2
You need to create an OData query expression to return the ten books with the smallest number of sales.
Which query expression should you use?

A. /books?orderby=sales desc&$count=10
B. /search?orderby=sales asc&$count=10
C. /search?orderby=sales desc&$top=10
D. /books?orderby=sales asc&$top=10

Correct Answer: D
Section: [none]
Explanation

Explanation/Reference:
Explanation:
The get the smallest number of sales we should use ascending (asc) ordering.

From scenario: RESTful API endpoints include:
Action: Get a list of all books

HTTP method: GET

Relative URI: /books

QUESTION 3
You need to choose the appropriate data access technology for the children’s book area of the web application.
Which data access technology should you choose?

https://vceplus.com/

A. ADO.NET Entity Framework
B. WCF Data Services
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C. LINQ to SQLD. Web Service

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:

Explanation:

Scenario: The children’s book area of the web application must get data directly from a local database. It must use a connection string. It must also support access
to the stored procedures on a database. Further, it is required to have strongly typed objects. Finally, it will require access to databases from multiple vendors and
needs to support more than one-to-one mapping of database tables.

QUESTION 4

You need to create an OData filter expression that returns bools that match the following characteristics: =
Published after 1/1/2000
= Have “Science” as the first word

Which filter statement should you use?

A. /books?$filter=PublishDate gt datetime’2000-1-1" and startswith(Title, ‘Science’)

B. /books?$filter=PublishDate greaterthan datetime’2000-1-1" and startswith(Title, ‘Science’)
C. /search?$filter=PublishDate greaterthan datetime’2000-1-1’ and beginswith (Title, ‘Science’)
D. /search?$filter=PublishDate gt datetime’2000-1-1’ and beginswith(Title, ‘Science’)

Correct Answer: A
Section: [noneg]
Explanation

Explanation/Reference:

Explanation:

The gt keyword is used for the greater than comparison.

The startswith keyword is used to compare the beginning of a string.

Example: Returns entry numbers611 and higher.
filter= Entry_No gt 610

Example: Returns all customers names beginning with “S”.
filter=startswith(Name, 'S")

References:https://msdn.microsoft.com/en-us/library/hh169248(v=nav.90).aspx
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QUESTION 5
You need to return the list of the top 100 books for the GetTopBooks() method.

Which type should you use to retrieve the data?

A. DataTable

B. SqglDataReader
C. DataView

D. DataSet

Correct Answer: B
Section: [none]
Explanation

Explanation/Reference:
Explanation:

From scenario: TheGetTop100Books() method is mission critical and must return data as quickly as possible. It should take advantage of fast, forward-only,
readonly methods of reading data.

A SqglDataReader is a type that is good for reading data in the most efficient manner possible.
References: http://csharp-station.com/Tutorial/AdoDotNet/Lesson04

QUESTION 6
You are preparing to write the data access code for the children’s book area of the web site.

You need to review the requirements and identify the appropriate data access technology.

What should you do?

A. Use LINQ to SQL

B. Use the WCF Data Services.

C. Use a Web Service.

D. Use ADO.NET Entity Framework.

Correct Answer: D
Section: [none]
Explanation

Explanation/Reference:
https://www.gratisexam.com/



Using the Entity Framework, developers issue queries using LINQ, then retrieve and manipulate data as strongly typed objects.

From scenario: The children’s book area of the web application must get data directly from a local database. It must use a connection string. It must also
support access to the stored procedures on a database. Further, it is required to have strongly typed objects. Finally, it will require access to databases from
multiple vendors and needs to support more than one-to-one mapping of database tables. References: http://www.entityframeworktutorial.net/what-is-
entityframework.aspx
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Testlet 1

General Overview
Adventure Works Cycles is a travel agency for cycling enthusiast. In recent years, Adventure Works Cycles has begun renting exotic cars to its clients.
You are developing a new web application that will provide Adventure Works Cycle customers with the ability to locate and rent exotic throughout the world.

Application Overview

The web application will be hosted in Azure. The application will provide users with the ability to search for a car by using advanced filtering options, such as the
car brand, model, year, and price. All of this information will be stored as strings and will be displayed as drop-down lists.

The brand and model lists that will be displayed on the home page of the web application will be retrieved from Windows Communication Foundation (WCF)
services hosted in the on-premises environment.

The home page will be named home.aspx and will be developed by using Microsoft ASP.NET MVC. The business logic will be developed by using ASP.NET Web
API.

The MVC front-end layer and the Web API will communicate by using JSON. The business logic will have a call to an assembly named CarBusinessLogic.dll.

For responding, you are creating a worker role named ReportApp in Azure that will collect data from all of the searches made by using the web application. The
application will communicate with ReportApp by using messages.

Requirements
Security Requirements

Adventure Works Cycles identifies the following security requirements for the web application:

= The Web API must only accept one data format.

* The CarBusinessLogic.dll assembly must be strongly-named.

= Communication between the on-premises WCF service and Azure must be encrypted. Logging

Requirements

In the Web API, you plan to create a controller named CarController. Before any action in CarController is executed, the following line of code must execute first.
Debug.WriteLine(“pre-processing logging”);
Performance Requirements

Adventure Works Cycles identifies the following performance requirements for the web application:

= After the initial deployment, any changes to the business logic of the Web APl must cause minimal downtime to the web application in the production
environment.

= The action in the Web API that returns the car brand must be asynchronous, while all other actions must be synchronous.

= When home.aspx is displayed,the rendered page must be cached for 10 minutes. = The web application will be deployed

to multiple instances.

Financial Requirements
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ReportApp will shut down every night. However, data from the searches performed during the night must still be collected.

QUESTION 1
You need to compile CarBusinesLogic.dll by using Microsoft Visual Studio.
Which attribute should you add before you compile the dynamic-link library (DLL)?

A. System.Reflection.AssemblyConfigurationAttribute
B. System.Reflection.AssemblyKeyFileAttribute

C. AssemblyFlagsAttribute

D. System.Reflection.AssemblyAlgorithmldAttribute

Correct Answer: B
Section: [none]
Explanation

Explanation/Reference:
Explanation:
Scenario: The CarBusinessLogic.dll assembly must be strongly-named.

One way to sign an assembly with a strong name is by using assembly attributes to insert the strong name information into your code. You can use either the
AssemblyKeyFileAttribute or the AssemblyKeyNameAttribute attribute, depending on where the key file to be used is located.

Note: To sign an assembly with a strong nhame by using attributes
= Add the System.Reflection.AssemblyKeyFileAttribute or AssemblyKeyNameAttribute attribute to your source code file, and specify the name of the file or
container that contains the key pair to use when signing the assembly with a strong name. = Compile the source code file normally.

References:https://msdn.microsoft.com/en-us/library/xc31ft41(v=vs.110).aspx

QUESTION 2
You need to identify a solution to display the car brands.

What should you include in the solution?

A. Azure Automation

B. Azure RemoteApp

C. the Service Bus queue

D. avirtual private network (VPN)

Correct Answer: C
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Section: [none]
Explanation

Explanation/Reference:
Explanation:
Azure Service Bus Messaging can safely use the QueueClient object for sending messages from concurrent asynchronous operations and multiple threads.

Scenario: The action in the Web API that returns the car brand must be asynchronous, while all other actions must be synchronous.
References: https://docs.microsoft.com/en-us/azure/service-bus-messaging/service-bus-performance-improvements

QUESTION 3
You need to perform the initial deployment of the web application. You must ensure that the application meets the performance requirements.

Which file should you modify before you deploy the application?

https://vceplus.com/

the service definition file (.csdef)

the application configuration file (app.config)

the packages configuration file (packages.config)
the Global.asax file (.asax)

o0

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:

Explanation:

You use cscfg file to define various settings related to your cloud application (in ConfigurationSettings section). Like app.config file, you get to define other things
(e.g.number of instances of your cloud application) in the cscfg file. You could change the settings in a cscfg file on the fly using either the portal or Service
Management API without having to repackage and redeploy the application.
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Scenario: After the initial deployment, any changes to the business logic of the Web API must cause minimal downtime to the web application in the production
environment.

QUESTION 4
You need to recommend a solution to meet the performance requirements for home.aspx.

What should you recommend?

ViewState
MemoryCache
OutputCache
ApplicationCache

o0 wp

Correct Answer: C
Section: [none]
Explanation

Explanation/Reference:
Explanation:
Scenario: When home.aspx is displayed, the rendered page must be cached for 10 minutes.

Page output caching

The output of an action method on a controller can be cached using the [OutputCache]attribute on the method. Actions methods that return views will have the
rendered page cached, while methods returning JSON data will have that data saved. A number of properties on the OutputCacheAttribute class control how data
is cached.

CacheProfile- If a number of methods will have the same cache settings, it makes sense to use the web.config file to create a cache profile that can be used
across all these methods.

The Duration attribute of the CacheProfile determines how long, in seconds, the output should be cached. To save an item for 10 minutes, duration would be set to
600.

[OutputCache(Duration=600)]

References:http://failedturing.blogspot.se/2014/10/microsoft-70-486-design-caching-strategy.html
Question Set 1

QUESTION 1
You are developing an ASP.NET MVC web application that contains the following HTML.

<table id= “customer” ></table>
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You also have an ASP.NET Web API application that contains a call for retrieving customers.
You must send and retrieve the data in the most compact format possible.
You need to update the HTML for the customers table to contain data from the Web API application.

Which script segment should you use?
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A <acript>
§ (function () ¢
var Scustcmers = §("#customers”):;
$.ajax{i
url: "api/customers",
dataType: "3son",
succe=s: function (data) ¢
?
¥y
k)
</script>

" B. <script>
§ (function () {
var Scustomers = §("#customers"):
S.xmi (1
uri: "api/customers®,
dataType: "ajax",
success: function (data) {
}
) i B
r) 2
</script>

C C. <script>
§ {function () {
var Scustomers = £("fcustomers"):
§.3=zon(!
uri: "api/customsrs®,
dacaType: "ajax",
success: function (data) |

;
}):
¥z
</script>

D <script> https://mww.gratisexam.com/
§ (function ()} {

var Scustomers = £ ("fcustomers"):

PR O A S
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Option A
Option B
Option C
Option D

o0 wp

Correct Answer: A
Section: [noneg]
Explanation

Explanation/Reference:

QUESTION 2
DRAG DROP
You are developing an ASP.NET MVC Web APl image management application.

The application must meet the following requirements:

= It must send or receive image data without the use of a buffer.
= |t must allow up to 4 MB of image data to be received. =

It must allow up to 3 MB of image data to be sent.

You need to complete the code to meet the requirements.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:
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'conﬁq

Server

'MaxBuﬂerSize

ﬂMaxReceivedMessageSize

MaxConcurrentRegquesds ﬁ

Streamed

Buffered

Correct Answer:

Answer area

private fatic fring baseAddress = “http://localhof:8080/";

fatic void Main(fring[] args)

{

var config = new HttpSelfHoftConfiguration(_baseAddress);
config.Routes.MapHttpRoute (

name: “Defaultipi”,

routeTemplate: “api/{controller)/{id}",

defaults: new {id = RoutsParameter.Optional}
):

= 1024 * 1024 * 3;

= 1024 * 1024 * &;
E.Iransferuode =
TransferMode. ;

var server = new HttpSelfH
server.CpenAsync() .Waic ()
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Answer area

'conﬁq VT class Program
! d {

1 private fatic fring baseAddress = “http://localhof:8080/";
server
‘ fatic void Main(fring[] args)
r : {
|MaxBufferSize | var config = new HrtpSelfHofConfiguration(_baseRddress);
: : conﬁq.Routes.MapH:tpRoute(
MaxReceivedMessageSize name: “Defaultipl”, . o
| ] routeTemplate: “api/{controller)/{id}",
4 - 9 defaults: new {id = RoutsParameter.Optional}
MaxConcurrentReguedts | ¢ ):
: ‘ : config | MaxBufferSize |= 1024 * 1024 * 3;
Streamed ; I :
. ‘ [t ' : ize= 1024 * 1024 * 4;
Buffered i J R MaxRecezvedMessageSzzg

config . TransferMode =

TransferMode, Streamed

e

var server = new HttpSe
server.CpenAsync() .Waic

Section: [none]
Explanation
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Explanation/Reference:
The config, not Buffered or Streamed, object is used to change attributes.

The TransferMode should be set to Streamed.
References:https://msdn.microsoft.com/en-us/library/ms731913(v=vs.110)

QUESTION 3
You are planning to migrate websites from I1IS 6 to IIS 7.5.

You do not have access to SSH or a VPN.
You need to select a deployment tool to securely migrate the websites.

Which tool should you use?

RoboCopy

Web Deploy

Microsoft command-line FTP
xCopy

00w

Correct Answer: B
Section: [noneg]
Explanation

Explanation/Reference:
References: https://www.iis.net/downloads/microsoft/web-deploy

QUESTION 4
You are developing an ASP.NET MVC application.

Applications can be deployed to remote servers only by administrators who have elevated privileges. The administrators do not have access to Visual Studio 2012.

You need to select a deployment tool to deploy the application to remote servers for testing.
Which tool should you use?

A. Copy Web Site Tool

B. One-Click Publish
C. Publish Web Site Tool
D. Web Deployment Package
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Correct Answer: D
Section: [none]
Explanation

Explanation/Reference:

QUESTION 5
You are preparing to develop a set of libraries for a company.

The libraries must be shared across the company.
You need to create a remote NuGet feed that exposes the libraries.

What should you do? (Each answer presents part of the solution. Choose all that apply.)

Install the NuGet.Feed Package.

Install the NuGet.Server Package.

Create a new Empty Web Site in Visual Studio.

Configure the Packages folder located in the appSettings section of the web application's Web.config.
Add packages to the Packages folder.

Create a new Empty Web Application in Visual Studio.

TmMoOow»

Correct Answer: BDEF
Section: [noneg]
Explanation

Explanation/Reference:
Explanation:
B: NuGet.Server is a package provided by the .NET Foundation that creates an ASP.NET application that can host a package feed on any server that runs IIS.

The process is as follows:

= (F) Create an empty ASP.NET Web application in Visual Studio and add the NuGet.Server package to it.
= (E) Configure the Packages folder in the application and add packages.
= Deploy the application to a suitable server.

D: Configuring the Packages folder
With NuGet.Server 1.5 and later, you can more specifically configure the package folder using the appSetting/packagesPath value in web.config:

<appSettings>
<!-- Set the value here to specify your custom packages folder. -->
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<add key="packagesPath" value="C:\MyPackages" />
</appSettings>

References: https://docs.microsoft.com/en-us/nuget/hosting-packages/nuget-server

QUESTION 6
You develop an ASP.NET MVC application that is secured by using SSL. You are ready to deploy the application to production.

The deployment package must include the installation of the SSL certificate.
You need to configure the deployment package to meet the requirement.

What should you do?

Create a web publish pipeline target file with a custom web deploy target.

In the Package/Publish settings of the project, select the All Files in this project option.

Extend the CopyAllFilesToSingleFolder target in the project file.

In the Build Events settings of the project, configure a pre-build event to include the SSL certificate.

00w

Correct Answer: A
Section: [noneg]
Explanation

Explanation/Reference:

Explanation:

Extending the Web Publishing Pipeline

The Web Publishing Pipeline (WPP) is the process that Visual Studio uses when you create a deployment package or use one-click publish.

Some aspects of the WPP can be extended by modifying the XML files that control MSBuild behavior. For example, tasks that that you can handle by modifying
XML files include the following:

* Installing SSL certificates on the destination server.

* Excluding specific Web application files or folders from the package.

* Precompiling the Web application before the package is created.

* Installing application assemblies in the GAC on the destination server. * Updating registry keys on the destination server.

References:https://msdn.microsoft.com/en-us/library/dd394698(v=vs.100)

QUESTION 7
You are developing a library to support multiple ASP.NET MVC web applications on a shared server. The library provides implementations of security algorithms.

If a problem with any of the security algorithms is discovered, a new version of the library must be created and deployed. Application downtime during the update
must be minimized.
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You need to ensure that the new version of the library will be used by all applications as soon as possible.

What should you do?

https://vceplus.com/

A. Build the web applications and include the security assembly as an embedded resource.
When an update is needed, copy the new assembly to the bin directory for the application.

B. Sign all assemblies in each application with the same key used to sign the security assembly. When an update is needed, create
a new key pair and re-sign all assemblies.

C. Build the security assembly as a hetmodule in a shared location.

Use the assembly linker to merge the netmodule into the assemblies for the application.
When an update is needed, update the netmodule in the shared location.

D. Install the security assembly in the Global Assembly Cache (GAC). When an update is needed, update the assembly in the GAC.
Correct Answer: D

Section: [noneg]

Explanation

Explanation/Reference:

QUESTION 8
You are developing an application in Visual Studio 2012 to display student information. The application contains the following Entity Framework model.
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. #y Grade A #3 Student Al
#3 Course R)
5 = Properties = Properties
= Properties
5 J§ FKStudentld 8 Studentld
f Courseld = & EXCourselD . F FirstName
Name ‘ K GradeEarned ® 1 F LastName
= Navigation Properties = Navigation Properties K Gender
¢4 Grades . &8 Course = Navigation Properties |
yr::J Student vr_f—:] Grades |

The application contains a WCF data service hamed DirectoryService.svc.

You need to create a query expression to display all of the grades for students whose first name is "John"

How should you build the expression?

http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John' &$expand=Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John'/Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName = 'John' &$expand=Grades
http://localhost:54946/DirectoryService.svc/Grades/Students?$filter=FirstName eq 'John’

OO0 W

Correct Answer: A
Section: [noneg]
Explanation

Explanation/Reference:

QUESTION 9
You are developing an ASP.NET MVC application that reads and writes data from a SQL Server database.

You need to prevent the application from reading data that is locked by other transactions. You also need to prevent exclusive range locks.
Which isolation level should you use?

A. ReadCommitted
B. Serializable
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C. Repeatable
D. ReadUncommitted

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:

QUESTION 10

DRAG DROP

You are developing a Windows Azure based web application that provides users the ability to rent training videos. The application is deployed to hosted services in
Asia and Europe.

The web application must meet the following requirements:

= Video files are large and must be able to be streamed.

= Streaming videos requires low latency network connections.

» Rental data contains structured information about the user and the video.

= Rental permissions are checked every five seconds during video playback.

You need to recommend a storage architecture for the application.

What should you do? (To answer, drag the appropriate technologies to the correct location or locations in the answer area. Each technology may be used
once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:
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Answer area

Table Storage ! :

l } Vldeos AS|a

Service Bus m N @ ! ’

| : \ web role

Blob Storage

- @

Windows Azure Drive )
b Rental Europe
® . data P

&

9 09
web role @w

Correct Answer:
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Active Directory

Service Bus

‘Windows Azure Drive

Section: [none]
Explanation
Explanation/Reference:

Answer area

\ Videos

Asia

Blob Storage

Rental
. data

wb role @w

Europe

Table Storage
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QUESTION 11
DRAG DROP
You are developing a self-hosted WCF service that returns stock market information.

The service must be discoverable by any client application. You need to build the service host.

How should you build the host? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may
be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:
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Answer area

- = | fatic void Main (#ring[] args)
‘Ldpﬁ;sccverv;ndp::nt } {

] Uri StockURI = new Uri("http://localhof:8733/StockTicker”);
DiscoveryZndpoint J var mytype = typeof(StockTickerService);

— — using (! ;hot

= new ; g(mytype, StockURI))

[ServiceDiscce 1’*‘::"393‘.&'.".‘::1.

hoft.AddServiceEndpoint (typeof (IStockTickerService),
new WSHttpBindang(), “*),

hot.Desc:zption.Beh&viozs.Add(new: oD

................................

w
(1]
"
.
)
N
W
M
"
- 3
[ L R K J

hof.AddServiceEndpoint (new | (1)

hoft.Open{);
Console.Readline();
ho#t.Close();

Correct Answer:
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Answer area

T & flatic void Main (#ring[] args)
UdpDiscoveryEndpoint (
; Uri StockURI = new Uri("http://localhof:8733/StockTicker”);
DiscoveryEndpoint var mytype = typeof(StockTickerService);
using ( |ServiceHod host
ferviceBehavicrattribute : : e
= new |ServiceHo# (mytype, StockURI))
Serviceliscoverydehavioy hot.AddServiceEndpoint (typeof (IStockTickerService),
o new WSHttpBindang(), “"),
ServiceHod .
| : hof.Description.Behaviors.Add (new ServicediscoveryBehay
° ) | oo eemeeeere et -
hoft.AddServiceEndpoint (new UdpDiscoveryZIndpoint )i
hof.Open();
Console.Readline();
hodt.Close();
}
}

Section: [none]
Explanation

Explanation/Reference:
QUESTION 12

You are developing a WCF service that compares several data sources. The service takes a long time to complete.
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The service must meet the following requirements:
= The client must be able to continue processing while the service is running.
= The service must initiate communication with the client application when processing is complete.

You need to choose a message pattern to meet the requirements.

Which message pattern should you choose?

A. One Way

B. Streaming

C. Duplex

D. Request/Reply

Correct Answer: C
Section: [none]
Explanation

Explanation/Reference:
QUESTION 13

DRAG DROP
You are developing a WCF service.

You need to implement transport security by using NTLM authentication and NetTcpBindings.

You have the following markup:
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<system.serviceModel>
<protocolMapping>
<add scheme="https” Target 1/>
</protocolMapping>
<bindings>

<netTcpBinding>
<binding>
<securicy Target 2>

<transport Target 3/>

curity>

e
m
ot
)
s
Lx
| i =
)
0, -
o
=
wr
N

</bindings>

</system. serviceModel>

Which configuration values should you include in Target 1, Target 2, and Target 3 to complete the markup? (To answer, drag the appropriate configuration values
to the correct location or locations in the answer area. Each configuration value may be used once, more than once, or not at all. You may need to drag the split
bar between panes or scroll to view content.)

Select and Place:

https://www.gratisexam.com/



Configuration Values Answer Area

Target 1:

binding="netTcpBinding”

Code Segment

binding="Transport”

binding="Ntlm"

Target 2:

Code Segment

”

mode="netTcpBinding”

Target 3:

mode="Transport”

Code Segment

mode="Nt1lm”

clientCredentialType="netTcpBinding”

clientCredential Type="Transport”

clientCredentialType="Ntim”

Correct Answer:
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Configuration Values Answer Area

Target 1:

—l ]

binding="Transport”
Target 2:
o

"

H

ode="netTcpBinding

Target 3:

mode="Nt1lm”

redentialType="netTcpBinding”

M
m
Q.
m
)

tialType="Transport”

clientCredentialType="Ntim"

Section: [none]
Explanation

Explanation/Reference:

QUESTION 14
You are developing a WCF service.

A new service instance must be created for each client session.
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You need to choose an instancing mode.

Which instance mode should you use?

A. PerCall
B. Single
C. Multiple
D. PerSession
E. PerRequest

Correct Answer: D
Section: [none]
Explanation

Explanation/Reference:

PerSession: A new InstanceContext (and therefore service object) is created for each new client session and maintained for the lifetime of that session (this
requires a binding that supports sessions).

Incorrect: Answers
A: PerCall: A new InstanceContext (and therefore service object) is created for each client request.
B: Single: A single InstanceContext (and therefore service object) handles all client requests for the lifetime of the application.

References: https://msdn.microsoft.com/en-us/library/ms731193(v=vs.110)

QUESTION 15
You are developing a WCF service.

A new service instance must be created for each client request.
You need to choose an instancing mode.

Which instancing mode should you use?

Single
PerRequest
PerCall
Multiple
PerSession

moow>»

Correct Answer: C
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Section: [none]
Explanation

Explanation/Reference:
Explanation:
PerCall: A new InstanceContext (and therefore service object) is created for each client request.

QUESTION 16

DRAG DROP

You are creating a WCF service.

The service endpoints must be exposed to the Microsoft Azure Service Bus. The service bus has a namespace named RestaurantSB. The key provider is "owner".

You need to modify the web.config file to expose the endpoints.

You have the following markup in the web.config file:

<services>

<gervice name="RestaurantService.MenusS
nt Target 1="RestaurantctService.IMenuServicea”
g="necIcpRelayBinding”
5= [/ taurantServiceBus.servicebus,.windows.net /Menu”
o i{e1b: =“sbBehavior” />

</8ervices>

<behaviors>

<bghavior name="sbBehavior”>
<transportllientEndpcintBehaviocr>
<tokenProvidexr:
<sharedSecret
Target 2="owner”
Target 3="10AFgNsbaN8+UIN737K="/>

nProvider>

ArIOVa

Toke
</transport
</pehavior>
</endpointBehaviors>
</behaviors>

</

CiisntEndpointBehavior>

Which attributes should you include in Target 1, Target 2 and Target 3 to complete the markup? (To answer, drag the appropriate attributes to the correct targets
or locations in the answer area. Each attribute may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view
content.)

Select and Place:
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Attributes

conctrac

user
s - o~ -
i1ssusrfecret

Correct Answer:

Attributes

—_—— A

Answer Area
Target 1: Attribute
Target 2: Attribute
Target 3: Attribute
Answer Area
Target 1 contract
Target 2: |issusrNams
Target 3: issusrSecret
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Section: [none]
Explanation

Explanation/Reference:
QUESTION 17

DRAG DROP
You are developing an ASP.NET MVC Web API application.

The application must meet the following requirements:
= It must send or receive data without the use of a buffer.
= It must allow up to 1 MB of data to be received.

https://vceplus.com/

= |t must allow up to 2 MB of data to be sent.
You need to complete the code to meet the requirements.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:
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lconﬁg

Lserver

iMaxBuﬂerSize

iMaxReceivedMessaquizé
| |

EMaxConcurrentReque&s

Streamed

Buffered

Answer area

class Program
{
private fatic fring baseAddress = “http://localhof:3080/";

fatic void Main(fring[] args)
{
var config = new HttpSelfHoc&Configuration(_baseAddress):
config.Routes.MapHttpRoute (
name: “Defaulcipi”,
routeTemplate: “api/{controller}/{id}"”,
defaults: new {id = RouteFaramster.Optional)

= 1024 * 1024;
'E.Iransteruode =

TransferMcde.

s

var server = new HttpSeliRosServer (config);
server.OpenAsync() .Waizc();



Correct Answer:
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config

Sexver

. ——

MaxBufferSize

;naxaeceivednessaquizé
]

EMaxConcurrentRequeds

—

[
?treamed J

Buffered

Answer area

class Program
{
private fatic fring baseAddress = “http://localhof:3080/";

fatic void Main(fring[] args)
{
var config = new HttpSelfHodiConfiguration(_baseAddress):;
config.Routes.MapHttpRoute (
name: “Defaulcipi”,
routeTemplate: “api/{controller}/{id}"”,
defaults: new {id = RouteFaramster.Optional}
):

MaxBufferSize |= 1024 * 1024 *2;

‘conﬁq ;.,- e
.

............ —— . | | ‘

 config ;MaxReceivedMessageSizﬁc 1024 * 1024;

‘conﬁq .TransferMode =

TransferMode, Streamed

aEl

var server = new HttpSeliRosServer (config);
server.OpenAsync() .Waizc();



Section: [none]
Explanation

Explanation/Reference:
The config, not Buffered or Streamed, object is used to change attributes.

The TransferMode should be set to Streamed.
References:https://msdn.microsoft.com/en-us/library/ms731913(v=vs.110)

QUESTION 18
DRAG DROP
You are developing an ASP.NET Web API action method.

The action method must return the following JSON in the message body.
{"Name": "Fabrikam", "Vendorld" :9823, Items": ['Dogs", "Cats") >
You need to return an anonymous object that is serialized to JSON.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:
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“Fabrikam”, VendorNumber = 9823,<
;Fab:ikam", VendorNumber = “9823”%
-new Lig<®ring> { “Dogs”, "“Cats” {
.new Lif<#ring> { “Dogs, Cats” }
'teturn new LiZ<&ring>

return new

Correct Answer:

Answer area

public cbject Get ()
{
{ ,
Name -
Items =
® bi
D
o }
()
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Answer area

public cbject Get ()
{
"Fabrikam”, VendorNumber = "“$823", return new
{
Name = “Fabrikam”, VendorNumber = 9823,
new Lif<fring> { “Dogs, Cats” } Items = new Lifi<®ring> { “Dogs”, “Cats” )
® pi
return new Lif<fring> D
o }
2]

Section: [none]
Explanation

Explanation/Reference:

QUESTION 19

You are designing an ASP.NET Web API application.

You need to select an HTTP verb to allow blog administrators to remove a comment.
Which HTTP verb should you use?

A. PUT

https://www.gratisexam.com/



B. DELETE
C. POST
D. GET

Correct Answer: B
Section: [none]
Explanation

Explanation/Reference:
QUESTION 20
You are developing an ASP.NET MVC application. The application is an order processing system that uses the ADO.NET Entity Framework against a SQL Server

database. It has a controller that loads a page that displays all orders along with customer information. Lazy loading has been disabled.

The Order class is shown below.
public partial class C

= |

public string CustomerI

public virtual

Sy st oaTe Y

You need to return the orders and customer information in a single round trip to the database.

Which code segment should you use?
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" A, public ActionResult Index()
{
IQueryvabhiagOrder> orders = db.0Orders;
orders = prders.Include ("Customexr");
return View(orders.ToList()):

" B. public ActionResult Index()
£
IQueryabla<Order> orders = db.Orders,.Include ("Order.Customexr");
return View(orders.ToList()):

" C. public ActionResult Index()
IQueryabie<Order> orders = db,0rders;
orders.Select(o => o.Customer) .Load():
return View(orders.ToList()):

C D. public AcrtionResult Index{)
{
IQueryable<Ordexr> oxrders = db.Oxrders;
return View{orders.ToList()):

Option A
Option B
Option C
Option D

OO0

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:
QUESTION 21
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You are developing an ASP.NET MVC application that reads and writes data from a SQL Server database.

You need to maintain data integrity in all situations that use transactions.

A. ReadUncommitted
B. Repeatable

C. Serializable

D. ReadCommitted

Correct Answer: C
Section: [none]
Explanation

Explanation/Reference:
Explanation:
The highest isolation level, serializable, guarantees that a transaction will retrieve exactly the same data every time it repeats a read operation.

References:https://technet.microsoft.com/en-us/library/ms189122(v=sql.105)

QUESTION 22
HOTSPOT
You are supporting an application that uses the ADO.NET Entity Framework to query and access data.

The latest version of Entity Framework contains bug fixes that will improve performance.
You need to update Entity Framework.

Which Visual Studio 2012 menu item should you choose? (To answer, select the appropriate menu item in the answer area.)

Hot Area:
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Correct Answer:

O Ea e

S ®
L&

Attach to Process... Ctri+Alt+P
Connect to Database...

Conne.ci*to-.SEwer... :

Code Snippets Manager... Ctri+K, Ctri+B
Choose Toclbox tems...

Add-in Manager...

Library Package Manager 4

Extension Manager...

install Web Tomponents

Create GUID

Errer Lookup

ATL/MFC Trace Tool

WCF Service Configuration Editor

External Tools...

Import and Export Settings...
Customize...
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Tools Unit Test Architecture Analyze Window Help
' Attach to Process... Ctri+Alt+P

Connect to Database...

Connect to Server...

Add SharePoint Connection...
Code Snippets Manager... Ctri+ K, Ctri+B

B o

Choose Toclbox Items...
Add-in Manager...
Library Package Manager
[E | Extension Manager..

install Web Tomponents
Create GUID
Errer Lookup
ATL/MFC Trace Tool
G WCF Service Configuration Editor

External Tools...

Import and Export Settings...
Customize...

Options...

Section: [none]
Explanation

Explanation/Reference:

QUESTION 23
You are developing an ASP.NET MVC application.

Deployment administrators do not have access to Visual Studio 2102, but will have the elevated permissions required to deploy the application to the servers.
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You need to select a deployment tool for use by the deployment administrators.

Which tool should you use?

A. Publish Web Site Tool

B. Web Deployment Package
C. One-Click Publish

D. Deployment Package Editor

Correct Answer: B
Section: [none]
Explanation

Explanation/Reference:

QUESTION 24

You are developing an ASP.NET MVC application. The application has a page that searches for and displays an image stored in a database. Members of the
EntityClient namespace are used to access an ADO.NET Entity Framework data model Images and associated metadata are stored in a database table.

You need to run a query that returns only the image while minimizing the amount of data that is transmitted.

Which method of the EntityCommand type should you use?

ExecuteScalar
ExecuteDbDataReader
ExecuteReader
ExecuteNonQuery

o0

Correct Answer: A
Section: [noneg]
Explanation

Explanation/Reference:
Explanation:

The SglCommand.ExecuteScalar method executes the query, and returns the first column of the first row in the result set returned by the query. Additional
columns or rows are ignored.

References: https://msdn.microsoft.com/en-us/library/system.data.entityclient.entitycommand(v=vs.110).aspx
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QUESTION 25
DRAG DROP
You have an Azure SQL Database that contains two tables named Country and City.

You need to insert a country into the Country table and a city into the City table. The solution must meet the following requirements:
= If an error occurs while attempting to add the country, the city must NOT be added. =
If an error occurs while attempting to add the city, the country must NOT be added.

How should you complete the code? To answer, drag the appropriate code blocks to the correct locations in the answer area. Each code block may be used once,
more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Select and Place:
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Code Blocks Answer Area

i = using (SglConnsction connection = new SglConnsction (connectionString))
| Commit () ; (
- connaction.Open();
5Dispose(): ° SglCommand command = connection.CreateCommand();
L ° command.Connection = connection;
) @ SgiTransaction transaction = connection.BeginTransaction (”Beginning”);
;Rollback(”Beginning")' o command.Transaction = transaction;
t 5 try
{ (
|Rollback (“Inserted”); command.CommandText = “INSZERT INTO Councry (CountryName) VALUES ('Countryl’)”:
L . command.ExecuteNonQuery () ;
| Save (“Beginning”); transacticn. Code block
¥ Ly
iSave("Inserted’):
! command.CommandText = “INSERT INTC City (CityName) VALUES (’Cityl')”;
command.ExecuteNonQuery()
}
catch(Zxception ex)
{
transaction. Code block
}
transacticon. Code block
}
catch (Exception ex)
{ . S
transaction. Code block
}
1

Correct Answer:
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Code Blocks Answer Area

E using (SglConnsction connection = new SglConnsction(connectionString))
Commit();

, (

connection.Open();

‘Dispose()° ° SglCommand command = connection.CreateCommand();
r o -
| | @ command.Connection = connection;
P SglTransaction transaction = connection.BeginTransaction (”Beginning”);
‘Rollback(”Beginning")' | ® command.Transaction = transaction;
- r
L i try
~ 1 {
Rollback(“Inserted”): command.CommandText = “INSZRT INTC Country (CcountryName) VALUES ('Countryl’)”:
! i command.ExecuteNonQuery () ;
| A | VI .| & AT P o ik 1 |
Save (“Beginning”); transacticn. | Save(”Inserted’);
- 4 | |
y g try
Save ("Inserted’); {
command.CommandText = “INSERT INTC City (CityName) VALUES ("Cityl’)”;
command.ExscuteNonQueryv()
}
catch(Zxception ex)
( I'"“’ o ____________
transaction. | Rollback(”Beginning”);
}

transaction. |Commit{):

transaction. |Rpollback(“Beginning”);

Section: [none]

Explanation

Explanation/Reference:

References:https://msdn.microsoft.com/en-us/library/system.data.sqlclient.sgltransaction(v=vs.110).aspx
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QUESTION 26
You are developing an ASP.NET MVC application that displays a report. The report includes large images that are stored in a database. Members of the
EntityClient namespace are used to access the database through the ADO.NET Entity Framework data model.

You need to prevent memory exceptions while generating a report using the EntityDataReader type.

Which CommandBehavior type should you use?

A. SequentialAccess

B. SingleRow

C. SingleResult

D. FastForwardReadOnly

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:

Explanation:

SequentialAccess provides a way for the DataReader to handle rows that contain columns with large binary values. Rather than loading the entire row,
SequentialAccess enables the DataReader to load data as a stream. You can then use the GetBytes or GetChars method to specify a byte location to start the
read operation, and a limited buffer size for the data being returned.

QUESTION 27
You are developing a library management application that uses the ADO.NET Entity Framework against a SQL Server database.

The application has a method that returns check outs filtered by date.

The Book class is shown below.

public partial class Book

pubiic Nullabis<System.DateTime> CheckoutDate { get; s

i

[a}
~
St

You must filter the data on the SQL server before it is returned to the application server.
You need to return books checked out more recently than the entered date.

Which code segment should you use?
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A)

IZnumsral

rapls ks = db.Books;
books = bocks.Where

b => b.CheckoutDate >= date);

B)

IZnumsral

ks = db.Books.ToList () .AsQueryable();

books = bocks. b => b.CheckoutDate >= date);

C)
IQueryable<Book> books = db.Bocks.TcList () .AsQueryable();
books = boocks.Where (b => b.CheckoutDate >= date};

D)

IQueryable<Book> books = db.Bocks;
books books.Where (b => b.CheckoutDate >= date);

Option A
Option B
Option C
Option D

oo w»

Correct Answer: D
Section: [noneg]
Explanation

Explanation/Reference:
Explanation:
IQueryable should be used when we want to filter the data.

QUESTION 28

HOTSPOT

You are developing a web application that will store data in an Azure SQL Database.

The application will contain three classes named Vehicle, Car, and SportsCar. Car will inherit the Vehicle class. SportsCar will inherit the Car class.
You plan to create the table structure for the three classes by using mapping strategies in the Entity Framework.

You need to identify how many tables will be created by each mapping strategy.
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How many tables should you identify? To answer, select the appropriate options in the answer area.

Hot Area:

Answer Area

Table-per-type:

Table-per-hierarchy:

Table-per-concrete class:

Correct Answer:
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Answer Area

Table-per-type: | v

0
1
2
3

Table-per-hierarchy: o |
0
1
2
3

Table-per-concrete class: \ 31
0
1
2
3

Section: [noneg]
Explanation

Explanation/Reference:

Explanation:

Box 1: Table-per-type: 3

Table per Type is about representing inheritance relationships as relational foreign key associations. Every class/subclass that declares persistent properties—
including abstract classes—has its own table. The table for subclasses contains columns only for each noninherited property (each property declared by the
subclass itself) along with a primary key that is also a foreign key of the base class table. This approach is shown in the following figure:
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A BillingDetai
=l Attributes
+ Number
+ Owner
(=} Operations
|
A CreditCard A BankAccount
= Attributes =) Attributes
+ CardType + BankName
+ ExpiryMonth + Swift
+ ExpiryYear [= Operations
= Operations

Box 2: Table-per-hierarchy: 1
Table-per-hierarchy (TPH) inheritance uses one database table to maintain data for all of the entity types in an inheritance hierarchy.

Box 3: Table-per-concrete class: 2
In Table per Concrete type (aka Table per Concrete class) we use exactly one table for each (nonabstract) class.
Vehicle is an abstract class, while car and sportscar and nonabstract classes.

References:

https://weblogs.asp.net/manavi/inheritance-mapping-strategies-with-entity-framework-code-first-ctp5-part- 1-table-per-hierarchy-tph https://msdn.microsoft.com/en-
us/library/jj618292(v=vs.113).aspx

QUESTION 29
You are developing multiple web applications that will retrieve information for a Windows Communication Foundation (WCF) service

You need to intercept and inspect messages received by and sent from the WCF service.

Which three actions should you perform? Each correct answer presents part of the solution.
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Create a class that inherits from the IDispatchMessagelnspector interface.
Implement the BeforeSendReply method.

Implement the BeforeSendRequest method.

Create a class that inherits from the IClientMessagelnspector interface.
Implement the AfterReceiveReply method.

Implement the AfterReceiveRequest method.

mmo o w2

Correct Answer: ABF
Section: [none]
Explanation

Explanation/Reference:
Explanation:
A: Service message inspectors implement the IDispatchMessagelnspector interface.

BF: Any service (dispatcher) message inspector must implement the two IDispatchMessagelnspector methods AfterReceiveRequest and BeforeSendReply
(Message, Object).

QUESTION 30
HOTSPOT
You are developing a WCF service.

The service must be interoperable with ASP.NET web service clients. In addition, it must be a time-out of three hours.
You need to configure the service to meet the requirements.

You have the following markup:
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<2xml versicr="1.0" eacoding="utf-8" 2>
<configuration>
<system.sexviceModel>
<services>
<gervice name="M
<endpcinc

Namespace.OrdexSsrvice”>

regs=""

contracc="MyNamespace.ICrderservice”
binding="Target 1"
bindingConfiguration="TFarget 2">
</endpoint>
</service>
</services>
<bindings>
<Target 3>
<binding name="Target 4">
Target 5="Target 6" />
</Target 7>
</bindings>
</system.ssrviceModel>
</configuration>

Which markup segments should you include in Target 1, Target 2, Target 3, Target 4, Target 5, Target 6 and Target 7 to complete the markup? (To answer, select
the appropriate markup segment from each drop-down list in the answer area.)

Hot Area:
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Answer Area

Target 1:

Target 2:

Target 3:

Target 4:

Target 5:

Target 6:

basicHttpBinding

closeTimeout

timeout

wsHttpBinding

basicHttpBinding

closeTimeout

timeout

wsHitpBinding

|w

closeTimeout
timeout

basicHttpBinding

‘wsHttpBinding

basicHttpBinding

closeTimeout

timeout

wsHitpBinding

|w

basicHttpBinding

closeTimeout

timeout
wsHttpBinding

03:00:00

00:03:00

00:00:03




Correct Answer:
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Answer Area

Target 1:

Target 2:

Target 3:

Target 4:

Target 5:

Target 6:

basicHttpBinding

closeTimeout

timeout

wsHttpBinding

basicHttpBinding

closeTimeout

timeout

wsHitpBinding

|w

closeTimeout
timeout

basicHttpBinding

‘wsHttpBinding

basicHttpBinding

closeTimeout

fimeout
wsHttpBinding

|w

basicHttpBinding

closeTimeout

timeout
wsHttpBinding

03:00:00

00:03:00

00:00:03




Section: [none]
Explanation

Explanation/Reference:
Explanation:

Target 1: wsHTTPBinding wsHttpBinding is the full-blown binding, which supports a ton of WS-* features and standards. It has lots more security

features: you can use sessionful connections, you can use reliable messaging, you can use transactional control.

Incorrect: Not basicHttpBinding: basicHttpBinding is the very basic binding (SOAP 1.1). It is not much in terms of security, not much else in terms of features, but
compatible to just about any SOAP client out there. It is great for interoperability, but weak on features and security.

Target 2: timeout
Bindingconfiguration (Target 2) and Binding nhame (Target 4) must be the same. Timeout is not use elsewhere and is an appropriate choice.

Target 3: WSHttpBinding

Target 4: timeout
Bindingconfiguration (Target 2) and Binding name (Target 4) must be the same. Timeout is not use elsewhere and is an appropriate choice.

Target 5: CloseTimeout
The following timeouts are available on WCF bindings: OpenTimeout, CloseTimeout, SendTimeout, and ReceiveTimeout.

Target 6: 03:00:00
3 hours, 0 minutes, and 0 seconds.
Target 7: WSHttpBinding

Reference:https://msdn.microsoft.com/en-us/library/hh924831(v=vs.110).aspx

QUESTION 31
You are developing an Azure web app by using Microsoft ASP.NET MVC.

From Microsoft Visual Studio, you use the Web Deploy Package publish method to create a deployment package for the web app.
You need to deploy the package.

What should you run?

A. themsbuild.execommand
B. theSet-AzureWebSitecmdlet

C. theSave-AzureServiceProjectPackagecmdlet
D. themsdeploy.execommand

https://www.gratisexam.com/



Correct Answer: D
Section: [none]
Explanation

Explanation/Reference:

Explanation:

Deploying an ASP.NET web application.

The first step is to create a simple web application.

The second step is to create the package to deploy the web app to Azure. Msbuild can be used at this step.
The third stage is to deploy the package, created in step 2, with the help of Msdeploy.

QUESTION 32
DRAG DROP
You are developing an assembly.

You need to set the current version of the assembly to 4.3.2.1.

https://vceplus.com/

How should you complete the code? To answer, drag the appropriate code blocks to the correct locations. Each block may be used once, more than once, or not
at all. You may need to drag the split bar between panes or scroll to view content.

Select and Place:
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Code Blocks Answer Area

w "

=1 i Code block x Code block ( Code block

159

g

[SN]

assembly

AssemblyConfiguration

AssemblyVersion

Guid

namespace

using

Correct Answer:
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Code Blocks Answer Area

AssemblyVersion

o
w
w
%.'
[
e

AssemblyConliguration

LR R R

Guid

namespace

using

Section: [noneg]
Explanation

Explanation/Reference:
To set the version number for the assembly.
[assembly:AssemblyVersionAttribute("4.3.2.1")]

References: https://msdn.microsoft.com/en-us/library/4w8c1ly2s(v=vs.110).aspx

QUESTION 33
DRAG DROP
You have a Ul element library.

You need to build a NuGet package to integrate the library into your projects.
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What should you do? (To answer, drag the appropriate code elements to the correct location or locations in the answer area. Each code element may be used once,

more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.) Select and Place:

Code Elements

nupkg nuspec

Build Pack

Correct Answer:

Code Elements

nupkg nuspec

Build Pack

Section: [none]
Explanation

Explanation/Reference:
Explanation:

Box 1: nuspec

Answer Area
1. Define the packageina. %% e,
element
: 2. Build the package with the foilowing command.
o
o NuGet Code MyPackage. Code
element e|ement
Answer Area
1. Define the package ina . puspec file.
: 2. Build the package with the following command.
o
b NuGet Pack MyPackage. nuspec
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A .nuspec file is an XML manifest that contains package metadata. This is used both to build the package and to provide information to consumers. The manifest is
always included in a package.

Box 2: Pack

Box 3: nuspec

When creating a package, the nuget pack command will replace $-delimited tokens in the .nuspec file's <metadata> node with values that come from either a
project file or the pack command's -properties switch.

References: https://docs.microsoft.com/en-us/nuget/schema/nuspec

QUESTION 34
You are developing a Microsoft Azure web application. The application will be deployed to 20 web role instances. A minimum of 18 running instances is needed to
meet scaling requirements.

You need to configure the application so that upgrades are performed as quickly as possible, but do not violate scaling requirements.

How many upgrade domains should you use?

1B.

5
10

SERNPS

Correct Answer: C
Section: [noneg]
Explanation

Explanation/Reference:

Explanation:

The .csdef is only used for Cloud Services, not for VMs. So regardless of what you set or even how you try to do it, Azure VM UDs come in groups of 5. With 18
VMs, that means you'll have 5 UDs. UDO — to — UD4 like the following:

VMUpdate Domain
VMO0
VM11
VM22
VM33
VM44
VM50
VM61
VM72
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VM83

VM94

VM100
VM111
VM122
VM133
VM144
VM150
VM161
VM172

QUESTION 35
You are developing an application that reads and writes data from a SQL Server database.

You need to ensure transactional data integrity.

Which isolation level should you use?

Serializable
ReadCommitted
ReadUncommitted
Normal

o0 wp

Correct Answer: C
Section: [noneg]
Explanation

Explanation/Reference:
Explanation:
Serializable provides the highest level of data integrity.

References:https://msdn.microsoft.com/en-us/library/system.data.isolationlevel(v=vs.110)

QUESTION 36 HOTSPOT
You are creating a streamed Windows Communication Foundation (WCF) service.

You implement the following service methods.
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IEmployee

OperationConcract]
tream EmployeeMethodl (string stringl):

[OperationContract]
bool EmployeeMethodZ (Message msgl);

[OperationContract]
I¥mlSexrializabls EmployeeMethod3 (Stream streaml, string stringl);

[OperationContract
int EmployeeMethodd (bool booll, Messags msgl);

For each of the following statements, select Yes if the statement is true. Otherwise, select No.

Hot Area:
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Correct Answer:

Answer Area

Statement

The input for EmployeeMethod3 is streamed.

The output for EmployeeMethod3 is streamed.

The input for EmployeeMethod4 is streamed.

The output for EmployeeMethod4 is streamed.
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Answer Area

Statement Yes No

The input for EmployeeMethod3 is streamed. ®)

The output for EmployeeMethod3 is streamed. Q Q

The input for EmployeeMethod4 is streamed. @) )

The output for EmployeeMethod4 is streamed. O

Section: [noneg]
Explanation

Explanation/Reference:
Explanation:

To enable streaming, define the OperationContract appropriately and enable streaming at the transport level.

To stream data, the OperationContract for the service must satisfy two requirements:

= The parameter that holds the data to be streamed must be the only parameter in the method. For example, if the input message is the one to be streamed, the
operation must have exactly one input parameter. Similarly, if the output message is to be streamed, the operation must have either exactly one output
parameter or a return value.

= At least one of the types of the parameter and return value must be either Stream, Message, or IXmlSerializable.

References: https://docs.microsoft.com/en-us/dotnet/framework/wcf/feature-details/how-to-enable-streaming

QUESTION 37

You have a web application that was developed by using Microsoft ASP.NET MVC. The application is deployed to an Azure web app and uses an Azure SQL
Database.
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From a development environment, you use Microsoft Visual Studio to change the application code, and you modify the schema of the database.
You need to deploy the changes to Azure.

Which publishing method should you use?

A. BACPAC
B. FTP

C. Msdeploy
D. Robocopy

Correct Answer: A
Section: [none]
Explanation

Explanation/Reference:

Explanation:

You can deploy a .bacpac file to an Azure SQL Database using an Azure Resource Manager Template. .bacpac contains the schema and data necessary to
deploy your database.

Note: A BACPAC file is a ZIP file with an extension of BACPAC containing the metadata and data from a SQL Server database. A BACPAC file can be stored in
Azure blob storage or in local storage in an on-premises location and later imported back into Azure SQL Database or into a SQL Server on-premises installation.
References: https://docs.microsoft.com/en-us/azure/sql-database/sqgl-database-export
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